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QUESTION 1

If unicast mode is configured for the overlay transport in an NSX deployment, which two statements correctly define the
network support that is required? (Choose two.)

A. Configure NSX High Availability.
B. Layer 2 switching support in the access and distribution layers
C. Layer 3 switching support in the access and distribution layers
D. Configure Jumbo Frame support

Correct Answer: CD

QUESTION 2

Which statement best describes scaling a fault tolerant spine-leaf multipathing fabric architected for an NSX
deployment?

A. Scaling should be performed by replacing 1Gbps links in the architecture with 10Gbps links.

B. Scaling should be performed by increasing the number of links from each leaf switch to the associated spine switches
in the architecture.

C. Scaling should be performed by increasing the number of spine switches while maintaining point-topoint connectivity
between leafs and spines.

D. Scaling should be performed by using layer 2 switching between the leaf and spine switches.

Correct Answer: C

QUESTION 3

A vSphere administrator wants to setup an NSX Edge Service Gateway to provide traveling employees
secure access to company servers located in specific network segments within the corporate Data
Centers.

The solution has to be as scalable as possible.

Which Virtual Private Network solution will satisfy the administrator\\'s requirements?

A. SSL VPN

B. MPLS VPN

C. Layer 2 VPN

D. IPSec VPN
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Correct Answer: A

QUESTION 4

Which three network policy settings can only be configured on a vSphere 5.5 Distributed Switch? (Choose three.)
A. Access Control Lists (ACLS)

B. Network 1/O Control

C. LACP v2

D. NetFlow

E. DSCP Marking

Correct Answer: ACE

QUESTION 5

Which two statements are true regarding NSX? (Choose two.)

A. Workloads can be placed and moved independently of physical topology.

B. Operational efficiency can be achieved through automation of the physical network.
C. Workload deployments are non-disruptive over the existing physical network.

D. NSX implementation requires a VMware vSphere environment.

Correct Answer: AC
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